A= {alxi 149] oK) A 1), The FolA £ AL BE E Q17N

O 2€A O {14} €
© {4€A @ ocA
@ n(A) =4 @ (1,2, 7,12, 149 A

o @14 @228 @3h  © A

B

={l, 2, 7, 14} °|BE2
O©{14)cA
©{4¢A
® {1, 2, 7, 12, 14} > A o]oJof 3ttt




& % 69] uj50] o] BRG] obd 27

@ 129 v S @ 189 HjZ9] gt
@209 5] 1 @ 249] w5-2] Wk
® 369 Wi40] W

~&B

6 2] Hj=o] MetS dAavtdr oz el (6, 12, 18, 24, 36,
--joltt,
12 9] vij4=2] 35, 18 9] wi4=2] gk, 24 9] vj=2] A, 36 2

Hl4o] WFL BE 69 4o W] FEAZol




= AT A = {xlx=99 %2}, B
{x|xt 158 cE 2r2 39 w5} A o], B—A 27

@ {5} ® {9)
@ (3,5) ®16.12)

A=1{1, 3,9}, B={3, 6, 9, 12} 0|2 &
wekd B4 = (6, 12) oIk,




| tholo] 13

ol ch

S

{1,2,3,4,5},B = {2,4,6} ol o

@ {2,3) ® {1,3,4}

@)1.3.5.6)

@ {1,2}

@ {1,3,4,6}




5.

A v F2A A, Bl tiste] of

A2
@AUB @ ANnB ® A°NB
@ (AUB) ® (AnB)

(A€ - B)* = (A°N B°)° = (AU B)







I
mlo
[
A
=
ol
it
4>
o
=,
rlo

\

yA by €y
N l\ \I/
l, O’\/ z ’O T
A

dyl\ e Y
0 z
@) X

@ a,b,c @a,c,e ® a,c,d @ b,c,e ® c,d, e

la] @4 [b] @471 ohTh, [o] B [d] @47F okt [ B4
e [al, [d], [e] Rl B0l .




obel 1L AT xolA A% ¥ 2o WS X - ¥E ek
Zoltt, fol Aoy, ¥, A9 =AU E a3t 229
X—L >y
1 a
b
C

®D {a,b,c}, {1,2}, {1,2,3)
® {1,2,3}, {a, b}, {a, b}

® {1,2,3), {a,b,c}, {a,b,c}

o

@ {a,b,c}, {1,2,3}, {1,2}
@{1,2,3}, {a,b,c}, {a,b}



@® @
Y Y
(O )Z 0 T
® @
Y YA
O x O T
Y
O

AL B2 el S5 @ Helnt.




uj.

)

36

@ 20 3®)24 @ 32

D 16

o

ol

=>2X2X6=24




@5

@)6

®7




12.

spring®l 2= 6712 FAHS

Q]
=

dz yd

D 120 @ 240 @ 360

She e Sk

@ 480 ®)720

6Ps = 6! = 720




©9

of %t

b
a

k)

S}
=

b=kl

® 3

N

3)2 @

@1

— |

sP3 = 60

of 9Ez WY

=

b
a

a=60, b=120




2|10zt

ol

7A
o

HFA]
=

oH

Al

=L
k=

O
=

ot

sLo
U=

27 4

@ 24 3)28 @ 30 ® 33

® 21

"ol A F

do]o 2 87

8§xX 7
o gCQZT:28




@ 66 ® 85

O 54

—
(o]
—
Il
—
i
X
—
—
Tod
it
Q
——

10




